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Appendix D- Profile Decision Tree: “Segment Assignment” tab
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	II.  Residential (RES)
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	Usage Time Period:  The four-year period ending May 31 of the current calendar year (inclusive)  For ESI IDs with a Meter Data Type = NIDR, the four year period ending December 31.  For ESI IDs with a Meter Data Type = IDR, January and February of the current year and two previous years.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	For each ESI ID, step through 'A' and then 'B' or 'C'  below as appropriate to determine the applicable Profile Segment.  Then follow the instructions in 'D' below for ESI IDs that have Distributed Generation (per the DG tab).
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	A.
	Assign the default Profile Segment for the initial assignment of all new Residential ESI IDs as directed below.  Please refer to the Load Profiling Guide for Opt-In and transition assignments.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	If Weather Zone = COAST or if Weather Zone = FWEST then
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	assign LOWR
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else assign HIWR.
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	COAST default = LOWR
	 
	 
	 
	NORTH default = HIWR
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	EAST default = HIWR
	SCENT default = HIWR
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	FWEST default = LOWR
	SOUTH default = HIWR
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	NCENT default = HIWR
	 
	 
	 
	WEST default = HIWR
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	B.
	For Annual Validation, assign the applicable Profile Segment, For each ESI ID with a meter data type of NIDR, perform based on the steps below.  Because the steps below are not mutually exclusive, it is necessary to step through each of the following in the order listed, for each ESI ID, until an applicable case is found.  Once an applicable case has been found, follow the instructions below in Section C D, Distributed Generation Profile Segment determination.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	1.  For each RES NIDR ESI ID, identify all usage data for which the entire meter read period falls between Sep 20 and May 10 (inclusive) for the various years of the Usage Time Period and spans no longer than 44 days.  Use the resulting data from this step in the subsequent steps.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	Note:  Step 1 allows for only the Winter and Shoulder meter reads to be included in the subsequent steps to determine the Segment assignment.  Meter reads are to be classified as Winter or Shoulder reads in step 2.  

	 

	 
	 
	 
	 
	Note:  If the current validation is the first time that a NIDR ESI IDs has the required four years of usage data, then perform validations on the ESI ID.  If the ESI IDs has additional usage data exceeding the minimum required (5 or more years), then perform validations only if the Profile Segment is LOWR. Once an ESI ID has been validated as RESHIWR the ESI ID will no longer be included in subsequent annual validations.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	2.  For each meter read usage value determine if the read is a Winter or a Shoulder season for each RES ESI ID.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 If start date ≥ Dec 01 or  stop date ≤ Mar 01 then season = Winter
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	else if start date ≥ Sept 20 and stop date ≤ Dec 01 then
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	season = Shoulder
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	else if start date ≥ Mar 01 and stop date ≤ May 11 then
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	season = Shoulder
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	othewise calculate shoulder percent as follows:
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	if the read spans Dec 01 then
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 shoulder_percent = (Dec 01 - start date) / (stop date - start date)
	 

	 
	 
	 
	 
	 
	 
	 
	if the read spans Mar 01 then
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 shoulder_percent = (Mar 01 - start date) / (stop date - start date)
	 

	 
	 
	 
	 
	 
	 
	if shoulder_percent >= 0.6 then season = Shoulder
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	if shoulder_percent <= 0.4 then season = Winter
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	if a meter read has not been classified by season above then disregard the read
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3.  Calculate Average Daily Use for the meter read period (ADUsep) and assign a year value for each reading for each ESI ID.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	Let
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	yy = July 1st of current year
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	yy-1 = July 1st of last year
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	yy-2 = July 1st of two years ago
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	yy-3 = July 1st of three years ago
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	If stop date < yy-3 then
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	year value = 1
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else if stop date < yy-2 then
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	year value = 2
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else if stop date < yy-1 then
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	year value = 3
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else year value = 4
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	4.  Calculate the mean and standard deviation (stdev) of the Average Daily Use (ADUsep) for each ESI ID.  If stdev > 0 then create a normalized ADUsep (NADUsep), use the NADUsep to identify outliers and set their reading usage values and ADUsep to null.
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	and n = number of meter readings for the ESI ID
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	If NADUsep > 3.5 or
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	if NADUsep > 3 and ADUsep >100 or
	 

	 
	 
	 
	 
	 
	 
	 
	if NADUsep < -2 or
	 

	 
	 
	 
	 
	 
	 
	 
	if NADUsep < 5 then
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	kWhp = null
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	ADUsep = null
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	Else
	kWhp = kWhp
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	ADUsep = ADUsep
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	5.  Count the number of readings that have a usage value (not null) for each Season and continue with Step 6 for those ESI IDs that have more than two Winter readings and more than two Shoulder readings.  For those ESI IDs that do not have sufficient number of readings do not change the current Load Profile Type assignment.
	 

	 
	 
	 
	 
	
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	6.  For each meter reading time period compute the RESHIWR kWhp and the RESLOWR kWhp by summing the kWh interval values separately for the RESHIWR and RESLOWR backcasted profiles (available on the Load Profiling page at www.ercot.com) corresponding to the specific days in meter reading period "p".
	 

	 
	 
	 
	 
	
	 

	 
	 
	 
	 
	
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	7.  Compute the ESI ID year use, RESHIWR year use, and RESLOWR year use by summing the kWhp, RESHIWR kWhp, and RESLOWR kWhp respectively for each year value as determined in Step 3 above. 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	8.  For each year value compute a scaled RESHIWR kWh use and a scaled RESLOWR kWh use for each meter reading.
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	9.  Determine the correlation (R2) to the RESHIWR and RESLOWR profiles for each ESI ID.  The correlations are determined with a weighted linear regression analysis.
	 

	 
	 
	 
	 
	
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	Each reading is weighted as follows:
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	If season = Winter 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	and RESLOWR kWhp > 0 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	and RESHIWR kWhp > RESLOWR kWhp then
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	weightp = 2(RESHIWR kWhp / RESLOWR kWhp)
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	else weightp = 1
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	
 


	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	
 


	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	where
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	
 


	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	wi = weightp
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	yi = kWhp
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	xi = S RESHIWR kWhp or S RESLOWR kWhp
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	10.  Identify the Winter Max ADUsep for each ESI ID for the entire usage time period.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	11.  For each ESI ID, assign either HIWR (High Winter Ratio) or LOWR (Low Winter Ratio) based on the results of the previous steps, as follows.  Because A thru D below are not mutually exclusive, it is necessary to step through each of the following in the order listed, for each ESI ID, until an applicable case is found.  (Please note that the breakpoint values below are subject to change periodically.)
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	If the ESI ID's  Winter Max ADUsep < 20 kWh/day then assign LOWR
	 

	 
	 
	 
	 
	 
	 
	else if the ESI ID's correlation to the RESHIWR profile > 0.60
	 

	 
	 
	 
	 
	 
	 
	 
	and the correlation to the RESHIWR profile  > correlation to the RESLOWR profile 
	 

	 
	 
	 
	 
	 
	 
	 
	then assign HIWR
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else if the number of readings available > 9
	 

	 
	 
	 
	 
	 
	 
	 
	and the correlation to the RESHIWR profile > 0.90
	 

	 
	 
	 
	 
	 
	 
	 
	and (the correlation to the RESHIWR profile + 0.009)  > the correlation to the RESLOWR profile
	 

	 
	 
	 
	 
	 
	 
	 
	and Winter Max ADUsep > 53 kWh/day then assign HIWR
	 
	 

	 
	 
	 
	 
	 
	 
	else assign LOWR
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	C.
	For each ESI ID with a meter data type of IDR, perform the following.
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	Note:  If the current validation is the first time that a new IDR ESI IDs has the required three years of usage data for Jaunary and February, then perform validations on the ESI ID.  If the ESI IDs hasve usage data exceeding the minimum required (4 or more years), then perform validations only if the Profile Segment is RESLOWR. Once an ESI ID has validated as RESHIWR the ESI ID will no longer be included in subsequent annual  validations.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	1. Determine a list of ESI IDs that were active on January 1 of the year two years prior to the current year.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	2. Calculate two variables for each day on which the ESI ID is active and for which the actual interval data is available for the following months.
	 

	 
	 
	 
	 
	
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	January of the current year
	 
	February of the current year
	 
	 

	 
	 
	 
	 
	 
	 
	 
	January of the previous year
	 
	February of the previous year
	 
	 

	 
	 
	 
	 
	 
	 
	 
	January from two years ago
	 
	February from two years ago
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	The two variables are:
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	(a)  Daily kWh; and
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	(b)  Average Weather Zone daily dry bulb temperature.
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	ESI IDs must have at least 90% of the total monthly intervals for all six months to proceed to step 3.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	3. Calculate R-square (Pearson Product Moment Coefficient of Determination) values between these two variables, for each of the six months listed above.
	 

	 
	 
	 
	 
	
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	4. For each ESI ID, assign the appropriate Profile Segment based on A thru B below.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	a.
	If the existing assignment is LOWR (or a DG variation such as LOPV) then 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	if the required data were not available to calculate R-square values for any of the six
	 

	 
	 
	 
	 
	 
	 
	 
	months then 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	do not change assignment;
	 

	 
	 
	 
	 
	 
	 
	 
	else if any three of the six R-square values is ≥ 0.6 then 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	assign HIWR;
	 

	 
	 
	 
	 
	 
	 
	 
	else do not change assignment.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	b.
	If the existing assignment is HIWR (or a DG variation) then 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	if the required data were not available to calculate R-square values for each of the six
	 

	 
	 
	 
	 
	 
	 
	 
	months then 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	do not change assignment;
	 

	 
	 
	 
	 
	 
	 
	 
	else if all of the six R-square values are ≤ 0.4 then 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	assign LOWR;
	 

	 
	 
	 
	 
	 
	 
	 
	else do not change assignment.
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	D.
	Assign a DG Profile Segment as directed by ERCOT, per the DG tab.
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	1.  If the ESI ID has any PV generation then
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	if segment is determined to be HIWR then assign HIPV;
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else if segment is determined to be LOWR then assign LOPV;
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	2.  Else if the ESI ID has wind generation then
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	if segment is determined to be HIWR then assign HIWD;
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else if segment is determined to be LOWR then assign LOWD;
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	3.  Else if the ESI ID has other DG then
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	if segment is determined to be HIWR then assign HIDG;
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	else if segment is determined to be LOWR then assign LODG.
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


�Need to adjust wording so we can use this phrase either at the beginning or somewhere in the paragraph. 
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